R—ED ()

EX= MaakE (ERE)

i f(X) £ x=x, A H g(xX) & x="f(x,) Al
I (gof)(x) T x=x RAE (gof)(x)=

L
@
A
1°Define F(y)={ y-Tf(X) °
9'(f (%)) ify="1(x)
: o 9 —9(f (%) 2
Jim F(y)=_lim_ Y= t(x) =0'(f (%)) =F(f (%))

2°For t#X,,
if £(t)="1(x),
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If ()= f(x,),
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PIRE 1.
Calculate (1) [(2x+5)®] (2) [sin(2x+5)] (3) (™) (4) [log,(5* +1)]

BIRE 2. (kaEEEI) 3-1)

Show that |X|' % and |f(X)|’ _ 1) f'(x).

X )
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BIRE 3. (keI 3-2)
Let f(x)=x", where pe@Q. Show that f'(x)= px"™".
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BIRE 4. (F5EEE 3-3)

Difterentiate the following functions.

(1) f(x)=[2x+5| (2) f(x)=]sinx|+|cos X
@) 1(x)=log,|x+1 ) f=1
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3) f(x)=(sinx)?
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